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{b) Comparative analomy. sz} ' {1 mark)
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8 Wiy is oxygen I%Q%’rianl in the process of active transport in cells? (2 marks)
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AN Explain hew birds of prey are adupied to obtaining their food. {2 marks)
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SECTION B (4G marks)

Answer afi the questions in this section in the spoces frovided.

il The diggram below represents o section of a leafl,
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ia}. Maine ihe parts labelled Xand Y, ) .i: 2 imarks)

.|--|:qpan-.r..-q,a--....-p.---....||1.a--||.6-----r1rpqpp-a-nucq ------ [ E L R R E R R

by Lsing arrows, imiiculbﬁhlm diugraﬁl ihe direction of flow of water during the
trpnspiraiion sircm{?‘b' {2 marks)

{c) Staic two wa}r:bm which the leaf is suited to gaseous exchange. (4 marks)
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£2 '\L!mri below reprosents the results of suceessive crosses, staviing with red-flowere:d
(@\ \ ants snd white-flnwered plants and in which both plants are pure brecding.
< \ " Parental genotypes:  Red flowers x White flowers
O R
<< \,\' Fivat filinl genceation
AN :
& Selfed

Second filial gencration
3 Bod lowers: | White flower
KR

(3} What were parenis! genotypes? Use letter R to represent the goue for red colour and
r Tor white colour. {7 iarks)

T T T R b Bl b

(D) Wit was the colour of the flowers in the first (ilial generation? {1 mark)
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(i} Give 2 reason for your answer in (b)) above. _ (! mark}
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¢} IF4%0 red flowered plants were obtained in the second filial gencration, how many
I3 planis had white flowers? Show your working, {4 marks)
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12 Tha lemperature of a peraon was iztke%ﬁéggfc-m, during and afler taking a cold baih. The
resulls sre shown in the graph belo
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Explair why the lemperature feil during bath, {3 marks}
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{o} What c!;apghs occurred in the skin ihat enabled the imd}' lemperature io relum io -
normai? {4 marks}
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id {a)  Naine the crop nifesied by Plytaphthora infesions and the disease it causes,
' {2 marks)

Crop
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! {b) State four conlrel micasurcs against ihe disease. _ o € nlgrksi'
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is The concentration of lactic acid in tlovd ?&:ing aiel aficr an exercise was deleniniced, The
results are shown in the grapls I:-a:luwi\

e VR U T AT Ll (P TR R O T O B L T
4 %v SENRendsAEnRERRRs AR RRARECIRERRARE -
- _..:_. ..-..-. L.r:"_. ......-.--...--.-.-__._h_ B b o ‘ [i L.-.I..-.-.-,.:-p “:I
‘ LT R T R e e "_|:"”'
so VR a1 ERSNER NS ENEE N eRganduiayy
- ERRAREN sERN e T A TR e
-4 £ N o B ShBENEEN 4
g r.;_-_-ﬁ-g.\ : wuiinibnpapek L T e
o L A e e R e e
é 60 -[;.,C/_l N7 | 2 [ 1_1__ AR S R E
= Mg | i Jr Ll L R T T j.: Al
e L - .....-l 2 S0 B B IRy S Y S 3
= %\<R> i ;; AT j 114 __E:_ I_ i _____41‘!-...?__;;‘{‘; Tl ir
T gTEE Ehhnbunsnadnddnandyugnknuuuin. SN gp N
Y ottt R R e e R R
\\%\O ; rf : .'i‘g':‘.'{" i ke ;';1:7';:;, o 'i_:‘_:*f A
el 30 s s b e L { £ i < o + i1 4.1 -

e

el

1

9 Bl |
lh"‘\h.-
.
1
1 o Lo .
I t -
i
0
—
L
i
'i-"l
el
W
ST RN L
H | F :
- I B -
I e fudd
¥
==
HIEH |
T
:
i
[l |
&
T
[T
i
o
\
i
[H
A
-I—hrhq--ﬁ-r
T
1'.
PRI
T
it

1
| TR
F L L
DU LI A

el

-

b .
1
i
1
!
-1+
et
!
L)
s 1]
]
...'-!-.l-.
.. T
T
|
P ]
L)

-
1

0. %,
//

A
%x©

il A

1
i
¥
T
}

Luctic scid concen

i
'}
f=r=r
L]

= ‘L'_+_:' T
T

i
EREaERRS Ny Sy B s
=T +
|

r"--'-*-,l--"-r—,_r
1t
T
'
i
T
1
I
i
F
ot ds
5 L
o iy
R E
I
[
B
L
T
T
I
T
o
T
il
LA
i

o
¥

]v:!‘-
[ 14

..
+
1
-
_1]
i 3
ol 1
Iy
s
A
.._._I',....-
3
ERE!
I
;
|
B
o
L
EEERTE
|
.
e
=
5
1
o
i 1
———_— I
!
oot et
EH
1
1

=
2
=
&
[ S
E

i b minnies
&

L3 ¥

e NN e A B R L L L L L L e Ty R R RS R L 1

(i} Afler how many minutes was the lactic nvid concentration 7 hmg/ 00cm™?
2 marks)
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(i) What would be the conceniration of lactic acid at the 0™ minute? ¢ mark)
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(b} Give a reason for the high rale of production of lactic acid during the exereise.
: (2 inarks)
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{c) Give a reason for the dccreas@gc concentration of laclic acid afler the exercise,

§6 i mark}
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16 (8)  Whet is the @iiﬁcancc of sexual reproduction? {1 mark)
Q‘b’ .
{b} Smgeqwe advantages of asexual reproduction. {3 marks)
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q,;:@\ _ SECTIONC (40 marks)
(@\\\ Answer guestion 17 (contpulzeryj and eitfier question 18 or 19 in the spacves provided afier
0& Q . guerfion 19,
X i .
<<*(‘\\' 17 The numbers of di ffcmm types of animals supported by a squui'e kilometre in two ierrestrial
meayswns are shown in the iable heluw
Type of ecosystem [ Type of animak Number of animals i
| ) supported persg. fan |
1 E Domestic anhmails ' i
: Catile ; ; t i
g Goats f S .
Acacia savanpah  Sheep 1 Y ]
- Wikd gamie i
g b Thomson's gazeiles : 450 '
i , Eland | o 20
Wiidcbeoest 60
i Domestic animals :
Cattlc ' | 2
Coals i 5
Bushiand Sheep 3
Wild pame.
. Thomsons gazelles 200
Eland 12
Wildcbeest j o
(a) {i) Which domesiic animal is better adapled (o both ecosysiems? (! mork})

(i)  Give a reason why tive animal named in (a){i) above is belier adapfcd io the
Iwo ceosysiems. {1 mark)
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